o} Sn=b1+b2+b3+...+b(n-1)+bn=b1+b1*g+ +...+b1*gN(n-2)+b1*q*(n-1)=
b2=b1*q =b1+q(b1+ +...+b1*g*(n-3)+b1*g"(n-2))=b1+q(Sn - b1*g"(n-1))
b3=b1*q"2
Sn=b1+q(Sn - b1*g*(n-1))
Sn - gSn=b1 -b1*g”n
Sn(1-q)=b1(1 -g™n)

Sn=b1(1 -g*n)/ (1-q) @ \ %
ql<1  -1<q<1 \ A \ /‘Z
S6eck=b1(1 -gn) / (1-q9) \ \\
(72)*n -> 0 npn n->06€CKOHEYHOCTHU

1+%2+%+1/8+1/16 + ... =1/(1-72)=2
b1=1
q=1/2

nepuvoanyeckas gecatudHasa apoob - paumoHanbHOe YUCHOo

BUAa m/n, fae m - Lenoe, N - HatypanbHoe
3.(534537)56.56.56.56.56.56.56.56.56.56 - ecTb nepwuopg - pay

3.101001000100001000001000000100000001000000001 - HeT nepuoaa - nppad,




